Geo U2 SBAC Practice Name \(-@'V}( Date Period
Pait A: Congruence & Transformation [G-CO.7] :
1. Graph triangle ABC with vertices A(-3, 5), B(1, 6), hy
C(4, 0). Reflect triangle ABC across the x-axis to form ‘g N
triangle A’B°C’. s
’ ¥ '.zr &k
| (-3 -5 - |
A {“ % p {) ..—? A § \\3,
f AEEN NP
g{t,L)—>8 (1,-b) SN e
¢ {Lf ) 0:-0.5.7.5.5.4.8.0.0, 2, {;:; s by
0}y —> ¢ 0 2
¢ (4,0) | - p AN ANERE A
s
o H 2
——————— 10,
2. Graph quadrilateral MNOP with vertices M(-4, 9), . y v
N(1,10), O3, 6), P(-1, 4). Rotate MNOP 90° around I S
the origin counter-clockwise. A
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3. Select the pair of transformations that is the same as a reflection across the x-axis.
"
D
/Q/ a rotation of 90° counter-clockwise and a reflection across the x-axis. ﬂ gu \j
- o S - ANV Y.
@ rotation of 180° and a reflection across the p-axis. TN
ﬁ'j a rotation of 180° and a reflection across the x-axis. )
}35/; rotation of 90° clockwise and a reflection across the y-axis.
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Part B: Triangles [G-CO.10]

4,  Kyra claims that, given any segment A
AB with perpendicular bisector CD,
as shown... (M’ pi Kot toel
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... any point on line CD will be C
equidistant from points A and B. | relle xone
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Prove Kyra’s claim.

Stotemend NASOALA ) B A SAS— cPLtl
CENT: 4 L REZ8R
AE z LE dekvarbion o por peind scilew lousecter fee
L KED Ne gED defwuition oF o @dt ewlev lot s e
é’"x g 6-’;( refecive preve
NAREX S A BEX Srde - hogle - Side A cengromees
Aux ?; é....% f:ef/.r”f{/{)%ﬁeyngf w‘tj Fovtn d{: Cmﬁm% .A-f L~ 59&’(5%%‘% .
.5. - Given liﬁes m and n are parallel, prove that m

the sum of the interior angles of the triangle

shown (m£2 +msL5+mZ6) sum to 180°, AL+ 1 €2« iy
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